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Solutions

a) Putting the data into a frequency table reveals 
that the distribution is uniform. This is because 
each pressure has the same frequency.

b) The area of a probability distribution is always 
1. The area of the rectangle equals the area. 
Therefore the base x height = 1. The base is 
from 115 to 125 which is 10.

Base x Height = Area

10(h) = 1

h = 0.1

The height of the probability 
distribution is 0.1

c) P(115 < x < 120) = area under the graph

   = (120 ­ 115)(0.1)

   = 0.5

The probability that an 
athlete's blood pressure is 
120 mmHg or less is 0.5

d) I would expect there to a larger range of pressures and that the 
distribution would no  longer be uniform due to different levels of health.
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c) Total of (frequency x midpoints) ÷ 40

Estimate is about 47.8 metres.

a) & b)

e) P(more than 60 metres) = 0.075 + 0.025 + 0.025

= 0.125
The probability of an athlete throwing more than 60 metres is 0.125

f) I would expect the distribution to shift to the left as the skill level is 
likely to be lower. The data would move to the left on the histogram. The 
distribution would also have a lower mean.

x = 400, = 300, s = 40 

a) Find the z­score and then use the table

z = (400 ­ 300)/40

z = 2.5
Using the table gives 0.9938

Therefore, the percentage of builders taking LONGER than 400 hours 
is 1 ­ 0.9938 = 0.0062 = 0.62%

b) x = 250, = 300,  s = 40

z = (250 ­ 300)/40

z = ­1.25
Using the table gives 0.1056

Therefore, the percentage of builders taking 
less than 250 hours is 10.56%

c) If the kits were given out at random I would expect the distribution to 
shift to the right. The reason for this is that the skill level to assemble 
the kits will likely be less than those who ordered them. There would be 
an increase in the mean time taken as well as the standard deviation.
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p = 7 ÷ 120

p = 0.0583...

z = 2.576
n = 120

a)

E = 2.576
0.0583(1 ­ 0.0583)

120√
E = 0.055099...

The margin of error at a 99% 
confidence level is about 5.5% 

Lower limit = 5.8% ­ 5.5%

= 0.3%

Upper limit = 5.8% + 5.5%

= 11.3%
The 99% confidence interval is 0.3% to 11.3%

b) 5.8% of industrial wind turbines will not meet the standard. This 
estimate is considered correct within ±5.5%, 99 times out of 100.

a) To use the normal approximation both np 
and nq need to be greater than 5.

np = 1500(0.02) nq = 1500(0.98)

np = 30 nq = 1470

Yes, it is reasonable to use the normal 
approximation.

b) 
= 1500(0.02)

= 30
= √(1500)(0.02)(.98)
= 5.422...

The mean is 30, and the standard deviation is about 5.422.
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c) Applying the continuity correction we need to find P(­0.5 < x < 20.5).
We need the mean, standard deviation, and the z­scores for ­0.5 and 20.5.

x = ­0.5,  = 30,  s = 5.422

x = 20.5,  = 30,   s = 5.422

z = (­0.5 ­ 30) / 5.422

z = ­5.625... P(x < ­0.5) = 0

z = (20.5 ­ 30) / 5.422

z = ­1.844... P(x < 20.5) = 0.0329

P(­0.5 < x < 20.5) = 0.0329 ­ 0

= 0.0329
The probability that at most 20 patients 
suffered side effects is about 3.3%

d) No the company are 
not justified in making this 
claim, since the 
probability of side effects 
is higher than the old 
formulation (3.3% vs 2%).
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